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(EC/NOVEMBER 2015} MATHEMATICS P 5
QUESTION 6
6.1 The price of a new school bus is R540 000. The value of the bus decreases at 1 1%
per annum according to the diminishing-balance method. Calculate the value of the
bus after 8 years. (2)
6.2 Determine the effective interest rate if an investment earns interest at a nominal
interest rate of 11,5% per annum, compounded quarterly. (3)
6.3 Vishnu and Landi receive R15 000 each. They decide to invest the money for a
period of 8 years as follows:
Vishnu: Simple interest at 8,7% per annum. At the end of the § years Vishnu
receives a cash bonus of 3% on the principal amount.
Landi: Interest at 6,9% per annum, compounded monthly,
6.3.1 Calculate the value of Vishnu’s investment after 8 years, including the cash
bonus. (3)
6.3.2  Calculate the value of Landi’s investment after 8 years. (3)
6.4 James invests a certain amount for 5 years. The investment earns interest at 12% per
annum, compounded monthly, for the full term. James withdraws R?2 000 from the
account after 18 months. After 5 years the value of the investment is R23 564,
What amount did James initially invest? (5)
[16]
NOVEMBEL 24 (<
QUESTION 8
8.1 A school buys tablets at a total cost of R]140 000. If the average rate of inflation
Is 6,1% per annum over the next 4 years, determine the cost of replacing these
lablets in 4 years' time. (3)
8.2 An investment carns interest at a ratc of 7% per annum, compounded semi-annually.
Calculate the effective annual interest rate on this investment. (3}
8.3 A savings account was opened with an initial deposit of R24 000. Lighteen months
later R? 000 was withdrawn from the account. Calculate how much money will be in
the savings account at the end of 4 years if the interest rate was 10,5% pa.,
compounded monthly, (5)
8.4 A car costing R198 0‘00 has a book value of R102 755,34 after 3 years. If the
value of the car depreciates at #% p.a. on areducing balance, calculate ». {(5)

(16]




(EC/NOYEMBER 2020}

MATHEMATICS PINVISKUNDE V1 13

QUESTION 8/VRAAG 8

8.1 Y
1‘ = ] + Hom — ]
(1)

12
=(]+ 0.095) O
12

v formula / formule

v substitution / vervanging

.. He needs to deposit R11 515
Hy moet R11 515 deponeer

=0,099247 ...
S =9,92% v answer / antwoord
(3)
8.2 A=PU+1)"
R 764 050,60 = P(1+0,08)’ v A=R764050,60
:w v" substitution / vervanging
(1+0.08)
=R 520 000 v answer / antwoord
(3)
8.3.1 a8 12
A:[28000(1+9=O%J —R?BOO}(H%) 0075\
! v 28000[1 L2 J
12
=(R37760,78 - R7300)(I +%) v —R7 300
12
. v ot
:R30460,78[1+9%J x[” 4
v’ 5] i 1 P ) fof
- R42181,59 simplification / vereenvoudiging
vanswer / antwoord
(5)
8.3.2 A=PU+1)
0,08Y" o
A=R42181,59t 1+ 5 v substitution into correct formula
vervanging in korvekte formule
=R62844,006 g |
R80000—- R62844,06 v R62 844,06
= R17155,94
LA=PAHD" v R17 155,964
60
R17155,94 = P(I +9ﬁ]
12 v method / metode
17155,94
[ 0,08}60
I+
12
=R11515,25

voanswer / antwoord (5)
[16]
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12 MATHEMATICS PU/WISKUNDE 11

(EC/NOVEMBER 2019)

QUESTION 7/VRAAG 7

| 7.1 [ A=P(1-jy | formula ! formule
| | 7210 = P(1-0,134)° Vn=s
i ; Y'substitutionintocorrectformula
’ ! “vervanging in korrekte formule
- 7210=0,4870678P 1
- P = R14802,87 ‘ vanswer / antwoord
P - @)
‘ 7‘2 | . iH(Jlii' ! l i |
IR Y
4 ‘ |
= (1 +&0_82J —1 ¥ n =4 substitution/vervanging |
4 |
| Ly = 8,46% vianswer / antwoord !
—— N )
C 7300 = ) |
| A= P(+1) | \/:uo”” and/env ' n =12
12
‘ = R2000O( 0,'203) \/substltutlonmtocmrectfmmula
! vervanging in korrekte formule
~ R22160.,09 vanswer / annwoord
| ‘ SR CON
'( 7.3.2 | Let themoneythathewithdrewbey / |
| Laat die geld wat hy onttrek het x wees :
{ |
| Balanceatstart of 2nd year / Balans aan die begin van ' i
} 2de jaar | Jl
R22160,09 + R15000 = R37160,09 | ¥ R22160,09+ R15000 |
I ‘r 0.115 Y24 |
! | {(1337160 09(I+°”5) ) }[(1#"68) ] R30183,64. 7 \R37160.09(1 +2112) |
| | v'subtractingx / trek x af
| | (46718,49558 —x) =501 v 1
! higs ' llr37160,00( + e b+ ) | |
! = s - —46718, 49558 | v'equatingto / stel gelyk aan
0,168 .
| (o) ' R30183.64
| ~x =-24999,9939
1 Sx=R25000,00 i v answer / anfwoord
| ©).
L _ﬁi 7

Copyright reserved/Kopieregvoorbehou
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Mathematics/P1/Wiskunde V' 14

DBE/November 2319

CAPS/KABY — Grade/Graad || — Marking Guidelines/Nasienrighvne

QUESTION/VRAAG 8

8.1 A=P(l-4)"
85000=200000(1—7)°

iy [ 85000
Y 200000

v'substitution/very.

v rewrite in terms of //
skryvfin terme van i

i=15,73% vanswer/anfw.
(3)
8 .2 . ].”‘)”' " i ‘
[+i, = (1 +ﬁ?—”—] v'formula/form.
. 0,085’ ;0,085
I+i, [H-T] i e
. 0,085’
Iq’,- = 1+T -1
iy =877% vanswer/antw. (3)
83.1 1 A=pP(1+j"
Ixl2
=28 000[1 + 01’122) v'substitution/very.
=R 35552,57 v'answer/anhy.
(2)
8.3.2
5 12x4 e 0,12 _
A = 28000 1+& 1+M 4 vV 2 Zand n= 48
12 2 12
0.12)2 0.129 %" v 0.129 and n =28
12000[1+L |+— —-6500 1+
12 2
=R87 267,25 v ) y
12000(|+£51-) (1+(EL%EJ
[2 2
4 2x3
v 6500(|+0’1“9)
v answer/aniw,
(5)
OR/OF

Copyright reserved/Kopieregvoorbehou

Please turn over/Blaai om usseblie]



72 Aka-y

Mathematics/P I/ Wiskunde V1

CAPS/KABV - Grade/Graad 11 -

QUESTION/VRAAG 7
' 7.1 ; m
! e P
et
12
NI
‘ 12

0115}"
i =1+ -1
&4 ( 12)

Ly =1213%

=4700(1- 0,18 }*
=R 2124,97

731 [ A=P(144p
2x4
=20000[1+0’?‘7‘2]

=R23068,12

7320 A =P(1 4"

2x12
=23068,12 (l + 0,078
12
~ R26 949,12
R26 949,12-R2500
—R24449,12

A =P(1 4"

% 312
=24 449.12[1+ 05078]
=R30871,61

OR/OF

=R30871.48

Copyright reserved/Kopieregvoorbehou

125 1243
A = 23068,12(1+0’10278) —2500(1%——0’—1027—8)

DBE/Naovember 2018

Marking Guidelines/Nasienriglyne

v formula/form.

AE
12

vy

| vanswer/antw. 3)

| Yformulalform.
¥ substitution/very.

v answer/antw.

[ o G
- v'formula/form.

- v'substitution/very.

£
- Yanswer/antw.,

f fwand =24
12

i
{ v A(after 2 years) - R2 500
!

v'n =136
vanswer/aniw.
(4)
0.078

V= and n= 60
12

i 1223
K44 —2500(110’078]
| 12

|
| v answer/antw.

)

!
3] }

Please turn over/Blaai om asseblief



Mathematics/P L/ Hiskunde V1

DBE/MNovember 2017

CAPS/KABY ~ Grade/Graad 11 - Marking guidelines/Nasienriglyne

QUESTION/VRAAG 1
7.1 4 =P(1-iy
20000 =80000(t -7} v'substitution into correct
0,25 = (1 _ ,')5 formula/ verv.in korrekte
vorm
M025=]—j
i=1-3/0,25 v'simplification/vereeny
i=0.24214417
i=2421% vanswer/antw.
(3)
72 Y
L+i, :(1 +MJ v'vorm/vorm
m
i —f1,.008Y
Ty =1+ 4 v subst/very
7., = 0,050945336...
Effective rate = 5,09 % p.a. v answer/anw.
(3}
73 | A=P(+i)
- subst/verv in form/vorm
g Ix
=30000[1+0if)“) (1+ V,[HOJZJ' ?
- 12
=R 58 (17,51 01082
dCs
2
v answer/anhy.
(4)
7.4 Sx|2 Ix|2 |.5x12 O.l 8
A=25000[ 1+ 218} _ 000 +4000 Y
[2 ) 12
60 3% 018"
v il
=25000( 1+ 218 ] _ 8000 +4000( 1 + 25000(” 2 ]
2 2 12 -
- R52636,74 v _8000(; +¥)
. 18
v +4000[1 +w]
12
V'Y answer/antw.,
OR/OF (6)

Copyright reserved/Kopieregvoorbehou
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Mathematics/P 1/ iskunde ¥/ 12

CAPS/KABV - Grade/Graad 11 — Memorandum

DBE/November 2016

QUESTION/VRAAG §
8.1 A= P(l-i)" v A= P(-i)"
= R 25000 (1-0 09)4 v’ substitution/very.
’ vanswer/anfw. (3)
=R17 143,74
8.2 i "
I+, = l+ﬂj v formula/for.
m v substitution//verv.,
_ 0,1235)" v'simplificationvereeny.
iy =1+ 2 vanswer/antw.
: 0,1235)12
i =1+ -1
. Rate = 0.13073x 100
—13,07% 4@
The effective interest rate/Die effektiewe rentekoers is 13.07%
8.3 A=PU+i)
. v'correct substitution into
R221292,32 = R145 000 (1 + correct formula
100 v'n =6
(\‘/Ril 209()2(;32 = +u§0 g
> 6R22l292,32_l+r
L =0,07300000324 V145000 100
100 ,
answer/anw.
r=73%
(4)
84 . [ . 5 10 -l 0.096
A= 15000[1+ —0-‘096J - 5000(1 v LO%J +3500(1+L0%] v o
4 4 4 4
12
= 44 .
R17 448,46 /15 ooo[1+0 096)
4
10
v'5 000[1+0’—09—6—J
4
q
v'3 500(1+——-——O'096]
4
Y answer/anhw. (5)
[16]

Copyright reserved/Kupieregvoorbehou
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(EC/NOVEMBER 2015) MATHEMATICS PI/YWISKUNDE V1

3.2.2 1 =5k —4 =219 I ONLY/Indien SLEGS:
‘—Sk = —215 k246 = —719

k = 43 k? =225
k=15
—k24+6=-219 | 4marks/punte.

k2 = 225 If continues and mentions that

- k =15 is uneven: 5 marks,
k=15 As voortgaan en meld dat k = 15
is onewe: 5 punte

v —Sk—4=_219
v answer/antwoord
v —ki4+6=-219

v answer/antwoord
v choice/keuse

(7]
If expansion that leads to correct answer: 5 marks.
As uitbreiding wat tot korrekte antwoord lei: 5 punte.
[fONLY expansion: 2 marks.
Indien SLEGS uitbreiding: 2 punte.
n=uneven | | 3 5 7 9 1 13 15
T, 5 -3 -19 -43 75 115 [ -ie3 [ -2r9
n=even 2 4 6 8 10 12 14 16 18 20 22 24 26 28
T, 12 24 -34 -44 54 64 74 34 -04 S04 | -4 4 T34 | C1ae
n=even 30 32 34 36 38 40 42 44
T 134 | -16d | 174 L84 [ c199 204 | o204 | 224
i
QUESTION 6/VRAAG 6
6.1 A=P( -
A =540000(1 - 0,11)8 v substitution/substitusie
A= R212575,80 ! v answer/antwoord
Wrong formule/verkeerde formule: 1
0 marks/punte,
’ @)
6.2 . 0,115\% v’ substitution/substitusie
1 = (1+25)
+ l_eff 4 Wrong formule/verkeerde
1+ lorr = 1,12005 ... formule: 0 marks/punte. v 1,12005 ...
ieff = 0,12005 ...
=12,01% v answer/antwoord
If answer given as 129%: 2 marks.
Indien antwoord gegee as 12%: 2 punte.
(3)
631 | A= 15000(1 + 0,087 X 8) + —=x 15 000 ¥ 15 000(1 + 0,087 x 8)
— v — x 15 000
= 25440+ 450 10N viindien SLEGS: 100
= R25 890 15 000(1 + 0,087 X 8) v answer/antwoord
I mark/punt,
3)

6.3.2 _ 0,069\ 70
A =15000 (1 + 12 ) Wrong formule/
= R26 009,69 Verkeerde formule:
1 mark/punt for/vir i,

12

: V= 0.069

v substitution/substitusie

v answer/antwoord

Copyright reserved

3)
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10

MATHEMATICS PI/WISKUNDE VI

(ECNOVEMBER 2015}

6.4

Ty Tig Teo
L & ®
P, P, R23 567
~42 -18
P, = [23 564 (1 T 2000] (1 +22)
= R14 642,83
OR/OF
Wrong formule/
0,12\*2 verkeerde formule:
Pl (1 + "'1"2_) = 23564 1 mark/punt for/vir
p. = 23564
1 (1+%)42
18
P2(1+%) = P, +2000
Py+2 000
P = ey
12

P, = R14 642,83
OR/OF

0,12

[x (1+ %}18 - 2000] (1+ 7)42 ~ 23564

0,12

18
x (1 + ?) — 2000 = 15514,98340

18
x(1 +9L1—2) = 17514,9834
12

x = R14642,83

: . 18
v x(l +°“) = 17514.9834

V= 0,12

12
v 23 564 (1 + %)"42

v +2000
v (1 + 0.12)‘18

12
v’ answer/antwoord

v =012
12
0.12\%2

v P (1422 = 23564

v P, + 2000
\/Pz(1+0'12

12

18
) = P + 2 000

v answer/antwoord

12
v answer/antwoord

(3)

[16]
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Mathematics/P1/Wiskunde Vi

17 DBE/November 2015

CAPS/KABV - Grade/Graad | | — Memarandum

QUESTION/VRAAG 8

8.1 A= P(1+i)
=140 000(1+0,061)*
=R177 414,69

v 140 000

v (1+0,061)°
vanswer/antwoord — (3)

8.2 . 0,07
I+i, =|1+—
2

+i, =(1+0,035)
iy = (1+0035) -
=0,071225

The effective interest rate/Die effekiiewe rentekoers is 7,12% p.a.

0,07
2
Vi, =(1+0.035)

v

v answer‘annvoord  (3)

8.3

12

= R27 369,56

OR/OF

13
A= {24000(1-% %) - 7000:|(l +

= R27 369,56

OR/OF

=R28 074,70
R28 074,70 - R7000=R2] 074,70

A ravean = 21 074,70[1 +

= R27 369,56

a8 0
A= 24000(1+ 05105) - 7000(1 + %J

. 5 18
AnﬁerISmr.vnlhs = 2’4000(1 + Q%J v O,I 05

0105
12

v n=48

v n=30

v'correct substitution into

correct formula/korr

subst in korr formule

vanswer/antwoord (5)
0,105

0,105 ] e

v on=18

v =30

v'correct substitution into

correct formula/korr

subst in korr formule

vanswer/antwoord (5)

12
v n=18
) 074,70

v n=3()

OJOSJm
v\ answer/antwoord (5)

8.4 NV
10275534 = 198 000[1 - ﬁj
100

110275534 L
V198000 L00

[« —080361198i8
100

~ = 0,1963880182
100

r =19,64%

v formula

v correct substitution into
correct formula/korr
subst in korr formule

v =3

v’ 10275534 L
Y 198000 100

v answer/antwoord  (5)

[16]
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